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0.0750.0500.0250.0000.0250.0500.075

Fiber 4128, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.140.120.100.080.060.040.020.000.02

Fiber 418, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.252.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0 0.1

Fiber 1439, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.2 2.4 2.6 2.8

2 0 2

2

0

2

model

1.8 2.0 2.2 2.4 2.6

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.15

Fiber 1333, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.2

2 0 2

2

0

2

model

2.02.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 421, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.4

2 0 2

2

0

2

model

2.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 56, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.254.50

2 0 2

2

0

2

residuals

0.200.150.100.050.000.05

Fiber 4329, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.05.56.0

2 0 2

2

0

2

model

2.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.10.0 0.1 0.2 0.3

Fiber 2974, dchi2frac= 1.0



2 0 2

2

0

2

data

2.83.03.23.43.63.84.04.2

2 0 2

2

0

2

model

2.753.003.253.503.754.004.254.504.75

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 549, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.254.50

2 0 2

2

0

2

residuals

0.000.050.100.150.200.250.300.35

Fiber 2062, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.2

2 0 2

2

0

2

model

2.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.350.300.250.200.150.100.050.000.05

Fiber 615, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.000.020.040.060.08

Fiber 1168, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.22.42.62.83.03.23.4

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 265, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.0

2 0 2

2

0

2

model

2.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.100.150.20

Fiber 2548, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 794, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.52.62.72.82.93.03.13.2

2 0 2

2

0

2

model

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.04

Fiber 947, dchi2frac= 1.0



2 0 2

2

0

2

data

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

model

2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.040.020.000.020.04

Fiber 2463, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.80.60.40.20.00.2

Fiber 4967, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.10

Fiber 4257, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

residuals

0.0500.0250.0000.0250.0500.0750.1000.1250.150

Fiber 2625, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.05

Fiber 1292, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.2

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 625, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

model

2.62.83.03.23.43.63.84.04.2

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 2165, dchi2frac= 1.0



2 0 2

2

0

2

data

2.83.03.23.43.63.84.04.24.4

2 0 2

2

0

2

model

3.0 3.2 3.4 3.6 3.8

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.30.40.5

Fiber 4808, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 2464, dchi2frac= 1.0



2 0 2

2

0

2

data

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

model

2.002.252.502.753.003.253.503.75

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0

Fiber 2785, dchi2frac= 1.0



2 0 2

2

0

2

data

2.22.42.62.83.03.23.4

2 0 2

2

0

2

model

2.22.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 2370, dchi2frac= 1.0



2 0 2

2

0

2

data

2.2 2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0 3.2

2 0 2

2

0

2

residuals

0.040.020.000.020.04

Fiber 186, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.22.42.62.83.03.23.43.6

2 0 2

2

0

2

model

2.02.22.42.62.83.03.23.43.6

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 2485, dchi2frac= 1.0



2 0 2

2

0

2

data

2.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.05

Fiber 765, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.84.0

2 0 2

2

0

2

model

2.502.753.003.253.503.754.00

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 1460, dchi2frac= 1.0



2 0 2

2

0

2

data

3.03.54.04.55.05.56.06.57.0

2 0 2

2

0

2

model

3.0 3.5 4.0 4.5 5.0 5.5

2 0 2

2

0

2

residuals

0.000.250.500.751.001.251.50

Fiber 2171, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 3.0 3.5 4.0 4.5

2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.25

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.200.25

Fiber 4617, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.00

2 0 2

2

0

2

model

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.050.000.050.100.150.200.25

Fiber 4471, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0 4.5 5.0

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.2

Fiber 1377, dchi2frac= 1.0



2 0 2

2

0

2

data

2.42.62.83.03.23.43.63.8

2 0 2

2

0

2

model

2.62.83.03.23.43.63.8

2 0 2

2

0

2

residuals

0.020.000.020.040.060.080.100.12

Fiber 2870, dchi2frac= 1.0



2 0 2

2

0

2

data

2.62.83.03.23.43.6

2 0 2

2

0

2

model

2.5 3.0 3.5 4.0 4.5 5.0

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 2729, dchi2frac= 1.0



2 0 2

2

0

2

data

2.502.753.003.253.503.754.004.254.50

2 0 2

2

0

2

model

2.502.753.003.253.503.754.004.254.50

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.40.5

Fiber 4312, dchi2frac= 1.0


